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Instructions

· The time for the test is 1 hour.

· Answer all questions. 
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Answer the questions in the spaces provided 
– there may be more space than you need.

· Questions that require a calculator are marked with the symbol         .

Information

· The total mark for this paper is 50.

· The marks for each question are shown 
– use this as a guide as to how much time to spend on each question. 

Advice

· Read each question carefully before you start to answer it. 

· Keep an eye on the time.

· Try to answer every question. 

· Check your answers if you have time at the end.
1
The distance chart shows the distances, in miles, between five cities.
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a
How far is it from Exeter to Truro?

........................................ miles
(1 mark)

b
Sam drives from Plymouth to Bristol and then from Bristol to Cardiff.


How much further is this than the direct journey from Plymouth to Cardiff?

........................................miles
(2 marks)

2
There are 480 people at a conference.
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 of them meet in Room 1.


20% of them meet in Room 2.


The rest meet in Room 3.


How many people meet in Room 3?

........................................

(4 marks)

3
A box contains 6 oranges, 7 bananas, 11 apples and some cartons of fruit juice. 
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 of the items are cartons of fruit juice.


How many cartons of fruit juice are there?

........................................

(2 marks)

4
The table shows the sports played by 120 students during their PE lesson.

	Football
	Basketball
	Hockey
	Rugby

	40
	20
	25
	35



Draw an accurate pie chart to show this information.

(4 marks)

5
150 members of a fitness club were asked at what time of day they usually go to the club.


90 men were interviewed.


Half of the men interviewed go in the evening.


Half of the women interviewed go in the morning.


One third of the members used the gym in the afternoon.


Twice as many women as men go in the morning.


The two-way table shows some of the results.

	
	Morning
	Afternoon
	Evening
	Total

	  Male
	
	
	45
	90

	  Female
	
	
	
	

	  Total
	
	
	
	150



Fill in all the missing values in the table.

(4 marks)

6
The table shows the birth rate and the life expectancy for seven countries.

	Country
	Birth rate

(number of births per 1000 people)
	Life expectancy

(years)

	Australia
	14
	83

	Egypt
	24
	73

	Ghana
	32
	66

	Indonesia
	20
	72

	Japan
	9
	85

	Panama
	20
	78

	United Kingdom
	13
	81



a
Plot the data as a scatter graph on the grid below.
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(2 marks)


b
Draw a line of best fit on your scatter graph.
(1 mark)

c
What type of correlation does your scatter graph show?

................................................................................

(1 mark)

The birth rate in Mexico is 19 births per 1000 people.

d
Use the line of best fit to estimate the life expectancy for Mexico.

........................................

(1 mark)

The birth rate in Niger is 50 births per 1000 people.

e
Why might it not be reliable to use the line of best fit to estimate the life expectancy 
for Niger?

....................................................................................................................................................................

....................................................................................................................................................................

(1 mark)

7
A rectangle is three times as long as it is wide.

Its perimeter is 72 cm.

What are the dimensions of the rectangle?
........................................

(2 marks)

8
Emma is buying a caravan.
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The cash price is £12 000.


She buys it on credit in the following way.



a
Show clearly that the total credit price of the caravan is £14 040.
(3 marks)


b
Emma pays £2040 extra buying the caravan on credit.



What is £2040 as a percentage of £12 000?

........................................

(2 marks)

9
Work out the smallest integer value of x that satisfies the inequality 
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........................................

(3 marks)

10
Amy has two older brothers.

Ben is 3 years older than Amy.


Chris is 10 years older than Ben.


The total of their ages is 73.


Form an equation and use it to work out Amy’s age.

........................................ years
(4 marks)

11
Work out 

a
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You must show your working.


Give your answer in its simplest form.

........................................

(3 marks)

b
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You must show your working.

........................................

(3 marks)

12
Solve 
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........................................

(3 marks)

13
Here is a sequence.


8, 14, 20, 26, …   


a
Work out an expression for the nth term of the sequence. 

........................................

(2 marks)


b
How many terms of this sequence are less than 300?

........................................

(2 marks)

TOTAL FOR PAPER = 50 MARKS[image: image9.jpg]
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A deposit of 15% of the cash price


                      plus


36 monthly instalments of £340
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